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1. ROAZREALG S,

(1) (x+2)(x+5) (2) (x+6)(x—3)

(3) (x—9)(x~4) (4)(x—8)(x+ 1)

(5) (x+7)° (6) (a+b)?

(7) (y=5) 72 (8)(x +3)(x—3)

(9) (x+y)x-y) (10) (x-6)(x +6)
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1. ROAZREALGESLY,

(1) (x+2)x+5) 2) (x +6)(x—3)
=x24+7x4+10 =x24+3x-18
(B) (x=9)(x—4) (4)(x=8)(x+1)
=x°-13x+36 =x%-7x-8

(N)~A)IEAHK1 (x+a)x+b)=x®+(a+b)x+abZfES

=9 T3
(5) (x+7)°2 6) (a+b)?
=x?4+14x+409 —a?4+2ab+b?
(7) (y-5) 2 (8)(x +3)(x—3)
=y?-10y+25 —x2_9
Q) (x+y)x—y) (10) (x—6)(x +6)
=x2—y2 = x%?-36

B)~ (NI 2 (x+a)?=x?4+2ax+a?’
2 2%

B)~(10)IEAX3 (x+a)x-a)=x°-a® ZHES
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